Word Swap Questions Overview

Word Swap Questions have a good weightage in the Banking Exam and the type of question asked in Banking exam is
similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they have tried to
elaborate the concept used in Word Swap Questions.

Question

In the following sentence, five words are given in bold. They may or may not be in the correct position in the sentence. You
have to find out which two or more words should exchange their position so that the sentence becomes grammatically
correct and meaningful. If no words need to exchange their position, then mark the option 'No error'. It was a a) hustle-
bustle day. People were b) hoarding household goods and the snacks were in demand. There was a c) hectic mall. The
children were waiting in a huge line to go for d) bowling in the e) arcade.

Difficulty : Moderate Average Time: 52 Seconds

Options :
1. a-b

2. c-d
3. a-c
4. b-c, c-d, d-a

5. No error

Solution

The correct answer isoption 3i.e. a-c.
First, let’ s see the definition of each emboldened term is given below:

e Hustle Bustle: Activity in asituation where alot of things are happening or people are moving around;
Hectic: Full of incessant or frantic activity.;

Hoar ding: Practice of collecting or accumulating something;

Bowling: A gamein which you roll a heavy ball down a narrow track; and

Arcade: Amusement center which usually has indoor games.

To make the sentence contextually correct, we need to interchange a) with ¢). The reason behind this interchange is that contextually
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the sentence is wrong unless the words from a) and c) are not interchanged.

The sentences here talk about the happenings in amall and what different people are doing init.
Therefore, to make this sentence grammatically correct, we have to change the word sequence as given below:

It was a d) hectic day. People were b) hoar ding household goods and the snacks were in demand. There was a c) hustle-bustlein the
mall. The children were waiting in a huge line to go for d) bowling in the €) arcade.
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